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TOTAL | JIEBfZ | TOTAL & NET | ToTAL| JB#Z | TOTAL | NET
KHER MAES LU

382 1 394 4 3676 8

K 4 OUT | IN | TOTAL|HDCP NET K 4 OUT | IN | TOTAL HDCP| NET

i M/ = B 34 | 39 73 * 36 1694 5 A g 17 35 | 37 72* 0 |720%*
H& E E 3% 41 | 76 * 60 700 2 % H W= 43 | 35 78 *| 36 |744*
M x = 35 41 | 76 * 12 748 tE 58 % 38 | 42 | 80* 84 |716*
i = 1 p— 39 | 39 78 * 48 732 N - oo— 41 | 40 81 *| 84 |726*
# E - % 39 | 40 79 *| 6.0 730 5 % B G 43 | 40 83 * 60 |770*
% W 1% 43 | 43 86 | 10.8 |75.2 2 ZF & 52 | 53 | 105 | 22.8 1822
| | ]

TOTAL | JIE{z TOTAL} NET | TOTAL | JB{ TOTAL NET

MEER 1]

391 2 404 5 3552 1

K 4 OUT| IN |TOTAL |HDCP NET K %4 OUT | IN | TOTAL HDCP| NET

At E 37 | 37 74 *| 24 (716 B H B x 37 | 37 74 *| 48 169.2%
VNIV & 1T 37 | 42 79 *| 72 7118 fitl R Bh 36 | 42 78 * 84 696*
E i E B 38 | 41 79 *| 48 742 oW IE BB 36 | 43 79 *| 72 718*
B O g — 37 | 42 79 *| 8.4 |70.6 s A gh 45 | 40 85 * 84 766
& - = 38 | 42 80 * 6.0 740 X & ®m B 45 | 43 88 *| 156 |72.4*
% H B BB 44 | 47 91 | 16.8 (742 £ W JT 43 | 46 89 | 16.8 72.2*
TOTAL &L | TOTAL| NET TOTAL | JEfZ #TOTAL NET

wA B

392 3 404 6 3616 3

E 4 OUT| IN TOTAL HDCP NET K 4 OUT| IN |TOTAL HDCP| NET

% K S 35 | 40 75 * 36 714 B T H E A 38 | 36 74 *| 36 |704*
E H 5 41 | 36 77 *| 2.4 746 r % ¥ 37 | 40 77 *| 84 |68.6*
X B # 17 38 | 40 78 * 6.0 720 i B X 85 X 39 | 41 80 *| 60 |740*
1T N g 3 40 | 39 79* 12 718 B B & WA 41 | 42 83 * 96 734*
X K 8 37 | 46 83 *| 108 (722 | |k & ' F 41 | 49 90 *| 10.8 |79.2
X B EOX 42 | 46 | 88 | 12.0 /760 o & — 49 | 49 98 | 22.8 |75.2*
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TOTAL | JBfZ lTOTALl NET B | TOTAL | JE{Z | TOTAL NET
SRR KR
405 7 13558 2 413 10 366.2 5
K 4 OUT | IN |TOTAL HDCP| NET K % OUT | IN | TOTAL HDCP| NET
X F Z 2 36 | 36 72 *| 12 |708* B E ;B 38 | 39 77 *| 36 |734*
T B & 37 | 42 79 *| 6.0 |730* H 5 [ 37 | M 78 *| 36 | 744*
7 IE £ 41 | 42 83 * 96 734* fl A E B 41 | 38 79 *| 96 |694*
R B Z & 43 | A 84 * 132 708* 7B R Al x M| 42 83 *| 120 |71.0*
#% K FOE 40 | 47 87 * 19.2 67.8* B R ] 49 | 47 96 * 180 78.0*
X E E - 44 | 49 93 | 19.2 /738 7 R x 54 | 50 | 104 | 21.6 |82.4
| | i |
TOTAL | JBfz | TOTAL| NET TOTAL | JEfZ | TOTAL | NET
TE BB A )11
408 8 3630 4 414 11 3764 13
K 4 OUT | IN |TOTAL HDCP| NET K % OUT | IN | TOTAL HDCP NET
#f kE it 39 | 38 77 *| 48 722% o oH F 1T 39 | 41 80 *| 48 |75.2%
B 7% = P 41 | 37 78 *| 84 |696* = B IS 43 | 38 81 * 36 714
A % 39 | 44 83 * 10.8 |72.2* K B o4 Y 83 * 84 |746*
# E g = 44 | 41 85 *| 10.8 |74.2* X = B 42 | M 83 *| 60 |770%*
B E R ¥ I 45 | 40 85 *| 84 766 N R ) 39 | 48 87 *| 108 |76.2*
X g Z 43 | 51 94 | 19.2 |748* £ k& £ IE 45 | 44 89 156 |734*
TOTAL | JE{Z | TOTAL | NET TOTAL | JBfiL | TOTAL NET
= e ot EAR
412 9 3676 9 418 12 368.2 10
E % OUT | IN [TOTAL HDCP| NET K % OUT  IN TOTAL HDCP| NET
o = Z 7 34 | 39 73* 0 |730%* & & 36 | 41 77 *| 48 |722%*
2 | E A X 40 | 38 78 *| 48 |73.2% o IE 1T 38 | 42 80 * 60 (740*
£ 7 # 40 | 43 83 *| 96 |734% & 4 F BB 40 | 44 84 * 120 |720*
X & ¥ o= 42 | 46 88 *| 13.2 |748* g B E S 37 | 51 88 * 96 [784
F E #® == 42 | 48 90 *| 16.8 | 73.2* A % # X 42 | 47 89 *| 156 734*
= B O 55 | 48 | 103 | 18.0 85.0 B XK i 49 | 42 91 144 |766%*
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TOTAL | JIEfZ | TOTAL | NET TOTAL | JEf | TOTAL| NET |
b Bt
419 13 368.6 11 440 i6 3786 14
E 4 OUT | IN | TOTAL HDCP| NET K 4 OUT | IN TOTAL HDCP| NET
EOH EES 34 | 43 77 *| 36 |734* IhBF — R 41 | 43 84 *| 84 |756*
¥ oM BE Z2 41 42 83 * 108 |722* & H (53 42 | 43 85 * 84 |766*
N B = 40 | 44 84 * 96 |744* &R B, i 43 | 43 86 * 132 72.8*
= H 5 — 41 | 44 85 *| 108 |742* = 1B X 41 | 46 87 * 108 76.2*
# H g 45 | 45 90 * 156 744* /NI g = 43 | 55 98 *| 204 (716
 E ' — 37 | 55 92 8.4 |83.6 2 A = 41 58 99 | 216 |774*
‘ 1
TOTAL | JEf%Z | TOTAL NET | TOTAL = JEf |TOTAL & NET \
E5 %% | | |
424 14 3674 7 441 ; 17 |366.8 6
|
K & OUT | IN |TOTAL HDCP| NET K 4 OUT | IN |TOTAL HDCP NET
M| g — 40 | M 81 *| 96 714* BN 8 I 39 | 41 80 *| 7.2 728*
SR E B 38 | 44 82 * 84 736* X 0O B 45 | 42 87 *| 84 786
b= 5} g X 40 | 42 82 *| 9.6 |724* T BHoOm 47 | M 88 *| 144 |736*
I B H = B 43 | 44 87’_k 108 |76.2* X B - X 43 | 46 89 * 156 |734*
& i) 49 | 43 92 *| 15.6 |76.4 Jl O %W 51 46 97 *| 216 754*
E B X 17 47 | 46 93 | 19.2 738* & K 5 — 53 | 45 98 | 264 716*
TOTAL | JlBif | TOTAL | NET
FH=
430 15 |[3716| 12
K % OUT | IN |TOTAL HDCP NET
& 0 ik — BB 37 | 43 80 *| 60 740*
i N 38 | 44 82 * 120 700*
X & ' 5 40 | 46 86 *| 12.0 |740*
X & s E 49 | 42 91 * 12.0 |179.0
A K E X 39 | 52 91 *| 156 754*
3 E F 46 | 55 | 101 | 228 |782*%*




